
7901 7901.5 7902 7902.5 7903
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 7072}

7901 7901.5 7902 7902.5 7903
cyclenum

17.6

17.8

18

18.2

18.4

18.6

18.8

19

19.2

19.4

19.6

19.8

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 7072}

7901 7901.5 7902 7902.5 7903
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta
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2X
4e

X

delta13_12X4eX:cyclenum {run == 7072}

7901 7901.5 7902 7902.5 7903
cyclenum

0.6

0.8

1

1.2

1.4

1.6

1.8

2

2.2

2.4

2.6

2.8

de
lta
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Y

delta46_12X4eY:cyclenum {run == 7072}
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7070.5
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7072
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7073.5

7074

ru
n

run:cyclenum {run == 7072}

7901 7901.5 7902 7902.5 7903
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0

0.5

1

1.5

2

2.5

3

se
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t

segment:cyclenum {run == 7072}



7901 7901.5 7902 7902.5 7903
cyclenum

118.8−

118.6−

118.4−

118.2−

118−

117.8−

117.6−

117.4−

117.2−

117−

116.8−

116.6−

us
l_

1X

usl_1X:cyclenum {run == 7072}

7901 7901.5 7902 7902.5 7903
cyclenum

3.2

3.4

3.6

3.8

4

4.2

4.4

4.6

4.8

5

5.2

5.4

us
l_

4a
Y

usl_4aY:cyclenum {run == 7072}

7901 7901.5 7902 7902.5 7903
cyclenum

51

51.2

51.4

51.6

51.8

52

52.2

52.4

52.6

52.8

53

53.2

us
l_

4e
X

usl_4eX:cyclenum {run == 7072}

7901 7901.5 7902 7902.5 7903
cyclenum

14

14.5

15

15.5

16
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l_

4e
Y

usl_4eY:cyclenum {run == 7072}

7901 7901.5 7902 7902.5 7903
cyclenum

40−

39.5−

39−

38.5−

38−
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l_
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X

usl_12X:cyclenum {run == 7072}

7901 7901.5 7902 7902.5 7903
cyclenum

7070

7070.5

7071

7071.5

7072

7072.5

7073

7073.5

7074

ru
n

run:cyclenum {run == 7072}



7901 7901.5 7902 7902.5 7903
cyclenum

140−

139.5−

139−

138.5−

138−us
r_

1X

usr_1X:cyclenum {run == 7072}

7901 7901.5 7902 7902.5 7903
cyclenum

4

4.2

4.4

4.6

4.8

5

5.2

5.4

5.6

5.8

6

6.2

us
r_

4a
Y

usr_4aY:cyclenum {run == 7072}

7901 7901.5 7902 7902.5 7903
cyclenum

196

196.5

197
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X

usr_4eX:cyclenum {run == 7072}

7901 7901.5 7902 7902.5 7903
cyclenum

8.5

9

9.5
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us
r_

4e
Y

usr_4eY:cyclenum {run == 7072}

7901 7901.5 7902 7902.5 7903
cyclenum

39−

38.5−

38−

37.5−
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r_
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X

usr_12X:cyclenum {run == 7072}

7901 7901.5 7902 7902.5 7903
cyclenum

7070

7070.5

7071

7071.5

7072

7072.5

7073

7073.5

7074

ru
n

run:cyclenum {run == 7072}
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cyclenum

34906.6

34906.8

34907

34907.2

34907.4

34907.6

34907.8

34908

34908.2

34908.4

34908.6

34908.8

us
l_

co
il1

usl_coil1:cyclenum {run == 7072}

7901 7901.5 7902 7902.5 7903
cyclenum

6972

6972.5

6973

6973.5

6974
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l_
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usl_coil3:cyclenum {run == 7072}

7901 7901.5 7902 7902.5 7903
cyclenum

3894

3894.2

3894.4

3894.6

3894.8

3895

3895.2

3895.4

3895.6

3895.8

3896

3896.2

us
l_

co
il4

usl_coil4:cyclenum {run == 7072}

7901 7901.5 7902 7902.5 7903
cyclenum

455.5−

455−

454.5−

454−

453.5−

us
l_
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il6

usl_coil6:cyclenum {run == 7072}

7901 7901.5 7902 7902.5 7903
cyclenum

15398.5

15399

15399.5

15400

15400.5
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l_
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il7

usl_coil7:cyclenum {run == 7072}
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cyclenum
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7070.5

7071
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7072

7072.5

7073

7073.5

7074
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n

run:cyclenum {run == 7072}
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30444−

30443.5−

30443−

30442.5−

30442−

us
r_

co
il1

usr_coil1:cyclenum {run == 7072}

7901 7901.5 7902 7902.5 7903
cyclenum

5960.5−

5960−

5959.5−

5959−

5958.5−

us
r_

co
il3

usr_coil3:cyclenum {run == 7072}

7901 7901.5 7902 7902.5 7903
cyclenum

3507.2

3507.4

3507.6

3507.8

3508

3508.2

3508.4

3508.6

3508.8

3509

3509.2

3509.4

us
r_

co
il4

usr_coil4:cyclenum {run == 7072}

7901 7901.5 7902 7902.5 7903
cyclenum

431−

430.5−

430−

429.5−
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us
r_

co
il6

usr_coil6:cyclenum {run == 7072}

7901 7901.5 7902 7902.5 7903
cyclenum

17840

17840.2

17840.4

17840.6

17840.8

17841

17841.2

17841.4

17841.6

17841.8

17842

17842.2

us
r_
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il7

usr_coil7:cyclenum {run == 7072}
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cyclenum
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7070.5

7071
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7072

7072.5

7073
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7074
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n

run:cyclenum {run == 7072}
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444−

443.5−
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442.5−
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1X_coil1:cyclenum {run == 7072}

7901 7901.5 7902 7902.5 7903
cyclenum

75.5−

75−

74.5−

74−
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1X_coil3:cyclenum {run == 7072}

7901 7901.5 7902 7902.5 7903
cyclenum
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23.5
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1X_coil7:cyclenum {run == 7072}
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513−4e
X
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4eX_coil1:cyclenum {run == 7072}
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99.5−

99−
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X
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4eX_coil3:cyclenum {run == 7072}
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4eX_coil7:cyclenum {run == 7072}
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167.6

167.8
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168.2

168.4

168.6

168.8

169

169.2

169.4

169.6

169.8
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Y
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4aY_coil4:cyclenum {run == 7072}
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cyclenum
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61.2

61.4

61.6

61.8

62

62.2

62.4
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62.8
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Y
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4aY_coil6:cyclenum {run == 7072}
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cyclenum

13−

12.5−

12−

11.5−
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Y
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4aY_coil7:cyclenum {run == 7072}
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181.5
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182.5
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4eY_coil4:cyclenum {run == 7072}
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cyclenum

5−
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4−

3.5−

3−4e
Y
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4eY_coil6:cyclenum {run == 7072}
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cyclenum

11−

10.5−

10−

9.5−

9−
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4eY_coil7:cyclenum {run == 7072}



7901 7901.5 7902 7902.5 7903
cyclenum

240−

239.5−
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X
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12X_coil1:cyclenum {run == 7072}
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85.5−

85−

84.5−

84−

83.5−
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X
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12X_coil3:cyclenum {run == 7072}
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cyclenum

3.8−

3.6−

3.4−

3.2−

3−

2.8−
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2.4−

2.2−

2−

1.8−

1.6−
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12X_coil4:cyclenum {run == 7072}
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cyclenum
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8
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12X_coil6:cyclenum {run == 7072}
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cyclenum
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439−
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X
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oi
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12X_coil7:cyclenum {run == 7072}
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7074
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n

run:cyclenum {run == 7072}
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